
Mark Revision Date Rev by Acc

Part Designation

Design

Check

Acc Weighted mass

kg

General tolerances Scale Product

Project

Prev

Ref

Part or assembly group
name QtyShape, Dimension Quality

Drawing number 
Item reference

NewCalculated mass

kg

Standard 
or catalog

              
              
              

 

18

21

10

6

23

24

25

1

2

26
5

22

27

20

19

9

8

17

7

16

13

3

11

12

14

4

15

27 305669              Stelschroef M6 x 20                                                                  2
26 456958              elementaandrukstrip                         20 x 3,0 L=300             Warmgewalst   3
25 306505              Starlock M6                                                                          9
24 302651              isolatie klein                              405 x 95 x 19,1            Insulfrax     1
23 302644              isolatie groot                              405 x 245 x 19,1           Insulfrax     1
22 457061              isolatiedeksel klein                        455 x 145 x 1,0            Zincor        1
21 457092              isolatiedeksel groot                        455 x 293 x 1,0            Zincor        1
20 305508              ring M6                                                                              6
19 305454              Moer M6                                                                              8
18 309629              Blindklinknagel 4,8 x 10                                                             6
17 306413              thermostaat 0 - 310                                                                  1
16 457115              Bodemplaat                                                                           1
15 305430              Plaatschroef 4,2 x 9,5                                                               8
14 309780              Trekontlaster                               130 x 80 x 3,0             Fe 360        1
13 302569              Stelvoet                                                                             4
12 305485              Moer M8                                                                              4
11 305560              Blindklinknagel                             8PO30                                    4
10 457009              vetlade                                                                              1
9  303238              lamp groen 230 Volt                                                                  1
8  308424              lamp geel 230 Volt                                                                   1
7  306383              knop                                                                                 1
6  457122              frame                                                                                1
5  457344              aandrukplaat thermostaat                    175 x 15 x 1,0             RVS 2B        1
4  305799              Moer M4                                                                              2
3  307519              ring M4 messing                                                                      4
2  308165              element                                                                              1
1  457054              bakplaat                                                                             1

verkoop

  1:10
                                  

                                  

 

bakplaat M46
 
 

 

 
 Hendi Engineering

Steenoven 21
NL 3911 TX  Rhenen 203002


